The Einstein Problem[image: image1.jpg]



There are five houses with different colors in a row.
In each house lives a man with a different nationality.
Each drinks a different beverage.
Each smokes a different brand of cigarettes.
Each one has different pets.

CONDITIONS TO MEET:

1 The German lives in the red house.

2 The Dutchman has dogs for pets.

3 The Frenchman drinks wine.

4  The green house is to the left of the white one.

5 The man in the green house drinks tee.

6 The pets of the man that smokes Belmont are birds.

7 The man in the Yellow house smokes lukies.

8 The man who lives in the center house drinks beer.

9 The American lives in the first house.

10 The man that smokes Camels lives next door to the man that has cats.

11 The man that has horses lives next door to the man that smokes Lukies.

12 The man that smokes Cools drinks Whiskey.

13 The Englishman smokes Pall Mall.

14 The Americas lives next door to the blue house.

15 The Camels smoker has a neighbor that drinks coffee.

Question: Who has fishes for pets ?

Problem to be solved in one hour. 

Albert Einstein used to say that 98% of the people could not solve the problem in one hour, are you among the 2% that can?

